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Esn MPESB 2025
— Primary School Teacher Eligibility Test - 2024 - Reports

Print
Testdate 30 Nov 2024 v
TestSlot Shift 1 v
Submit
Si60s7s TITII AT I e
A HRR U39 §RT
B T U gRT
c §d U gRT
D HTYF TS FRT
Correct Ans : B
Subject : Hindi Bhasha 01
8123523 T R8T F Her T e 32
A uTT & wfe & Sy s
B farwa Y st e
c onTeht wemait ¥ wurafa
D et wensit & werafa
Correct Ans : B
Subject : Hindi Bhasha 01
(224'\'6°1:0360 UTHT 3o SR TS SHTATTH & Sk T I Y TTerdl 82
s U9 WIHIfa® &9 J uRA F Aregy I yrar Sifvfa 3 St 2 srafes umer
. st Tt e &
B T et F oref oft THe A Ta: § wrw g § Wafe wren SiftnH & s AR o Wien usa §1
c YTHT 3ref § GBIa: G, e, PN e & Safs UTT RFM & e TR G, ster, TedT, e arf Sivra e usd g1
D T 3ok v wfear § ok arfRrT wihar seITd gIRT uT gt €

Correct Ans : D
Subject : Hindi Bhasha 01

QNo: 4 vy fRveror @57 g Y &-

2461116
A Sgae HATHT U
B HqEIRS UTS

C RIS ATHRT Urs

D SRS TATHT U

Correct Ans : D
Subject : Hindi Bhasha 01

QNo: 5 oo i & T U BT 9 FIRTT-

2464525
A y-vxg rft S & forg Syt e §1

B ¢ BT Y4 Had Ao fagr & € fear s g1
c -7 Al BTl ¥ oy w1

D 1 BT YA Sad Wpd § & frar wrar g1

Correct Ans : C

Subject : Hindi Bhasha 01
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Qo %, Re e & e 3 forg e @ 9T 31
A &id- fRreror Y

B fademo - Rugror

c geA-Rreror it

D SraHaq-fRremor #t

Correct Ans : C
Subject : Hindi Bhasha 01

QNO: 7 £y 3 4 Rt 1 IR WY Y T F T F B e v w2

2465068
A 14 fyamR, 1959
B 14 fyawR, 1939
c 14 fyawR, 1949
D 14 fRawR, 1940

Correct Ans : C

Subject : Hindi Bhasha 01

QNo: 8 gy faveror & -2 T o T, 7 22

2465290
A TuReIER
B o= fwre®
C piitae]

D Ricpil

Correct Ans : B
Subject : Hindi Bhasha 01

QNO: 9 fafyerar & e e F R0 S W1 UIGTHH STE S 82

2465605
A AT UTSuHH

B F ureTHH

C fowa Ffa wreawa
D fafay yoR &1 ureTww

Correct Ans : D

Subject : Hindi Bhasha 01

QNo: 10 fvares Sl Y GorTTerss e & R ieaifdl @R waell 21

2465626
A I% ggfamedia vy o
B I YATEROT YT Uy GBS
C 3% AY-STRIG Uy T
D I TATERYT STTRT UY TEHR

Correct Ans : D
Subject : Hindi Bhasha 01

(224'\1605:81411 e fafr 1 ST &-
A afaarh e gRT

B Wi fafy

C v fopar g

D 3eags fopam grRT

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 12 :
2465844 e ¥ Ugid GHT TEY UEA T ST ST § ?

A gPTS Aol
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B ufau=
C aiffe gieT
D aiffe a1 v wfoa

Correct Ans : A
Subject : Hindi Bhasha 01

QNO: 13 Loy o Rregor 7 Rieere wien @1 9399 7T &

2465993
A ITARTAS T AT
B FHSGN BT TdT G
C FHANE P gR FIAT
D T Y3 $1 W1 3T

Correct Ans : D

Subject : Hindi Bhasha 01

(22""\'6"6:11146 ST Pall & B S qHel W I IRGd $IAT ¢ A 99 R Bed 82
A 3reRt arad

B TS T

c fdw qo=

D 3P AT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
=T 2 fou 7T TR @Y ugaR B Y Ul & Hed Ifd SaR a1d faded & 99 Sifere-

TR A 3 o Widdl - aoft aur w1 o AT ae A TR Y W6 R & U S AT HH A Tsg AR MR 1 € A wiekaal 31 eg B AfRAr ouR 21 faza &
e, Fam, - e T WMo F Uiw-1m §1 R PR Ueg 3 B 7, w1 3R 7 8§11 B F 9R g9, FTaER a1 Ry 3t B8 anfedr i 71

e Tee-vfed 7o 81 W R quT T1aT e df SHagR 81 TeTHET e 3 37 Il 31 BioH T Srgyd e B 2Rt Tt Sit BT 9l siiae S aiFl § gad ATl 3 amoit $iR
FaER H TF A1 N Fed 4 Ie A A1 FE) 3P| HeMT H1 76 8| FRRAT off 7 g B 30T Hia Bt IuRE &1 ff, e Hfa &1 I 9 Forwurdt yura g 81 a1 3 S wfsesd
R Y earaeht et W 1 F @ HH B SURHT A | 6T A=A Weal BT e B F ATl A S HeT PRt &Y, IV R Bt A | § IIHS BHF bl gear ot off | 3

T R S U Siia & el quT Iohaar U ot ot

QNo: 15 i ey & g 31 6 @ SR <ifas oot T e

246658550

A Freae w=-afw

B R wregrat

C M AR Rt
D aroft 3R Ff

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
R R T T T %Y UgeR UR U UR & 9ed 3fUd SaR aTet fawed a1 9 $ifere-

TR § & e feRkral 8- arolt T H| v @ g F TUR I W6 T € aU 59 O H 1 Tsg 3R YR S € He Afckial §1 weg Bl Afghr R 31 fawa &
e, o, faTH-TRa G Usg U & Ufdep-TA10 81 R BR e ooef B &, K1 3 7 81 &4 & 7R ge, sgdeR & &1 Rigi o oIS arefesar et 81

e Tee-wfad HeM 81 R R qun garat 2ifdd Y sragR 81 JeTe T ¥ 37 <) B Bio- Ud Sigyd Wi Bt ot TgTa off 1 gegul Shae St T & gad ol 3 aroht ok
IR B TF &1 S Fed 4 I8 FRA A1 TG SAB! HGFT BT 6 3| HIGRAT Ot A ek P AU Fa B ST Bt o, Filfp B BT S T RS wUTa S 1A A B i
R S earach e W 1 F @ HH B SR ff | ST ARy Weck Bt e B J ATl A S FeT Bat A, IV R Bt ff | F IIIHS B bl gerar ot off | 33 F

T W 3T 30 Siia & rferar aur gwerdr wr o 2Ry

Ui, Py
A forgr-mea

B m‘%ﬂ

C Casl)

D wifge, oo ud fag=-ama
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Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e R fRE T T Y UgeR B U TR & Ged S SaR aTd faded o1 99 $ifvie-

TR T & S Rt ©- ot a1 B3| $© T a9 F TUR B W6 W1 € U 2 I 91 g 3R MYR ST € AeT s §1 g o1 AfgAr 3R 31 fozg o
g, o, faH-IRe e g e & Ufde-TmT 81 R BR et oo 81 8, R SR 7 81 o & 97R g9, aeR & 471 Rigra 3 ais arefear 7€) 81

g W-3fR TeM 31 R RRRR qu1 Tt [ O 9aeR 1 HTe T 5 579 S 31 Bio Ud 3rgyd Iy Bt ot HgTe St 1 Tyl Siiae St &l 9 gad ATl 3 anoft ok
agR H T U1 S Hed ¥ 98t B V| T ITP! HEHAT BT 6 3| BT off 3 s B e BT B TR 31 o, T Pfa b1 I 7 el yuig giar 81 a1 A FR) wfssd
T Y1 Tearaet et Wt ot 3 o FH 31 SURienT 2| ST faRaT Weat BT otiem FHHI I ATl A S Pyl HRal A, IV T A A | I TGS B B GYHaT ot | T F

T R S U Sita & Frfarer o Ioaar ure @t ot

%1'\1606:5187552 Yot T P IR, PEREI S AT Frader
A T WiR 9t U 3 R

B Ffa ot Suren 3 4

C g 3R YR B SUrHAT @t A

D P B IurET A B

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
e 2 fRw T T #Y UgeR R U UR & Ged Sfd SaR e e &1 99 $ifvte-

TR T & S At §- ot au1 B3| $ T a9 F TUR BT W6 W1 € U1 T I 91 g 3R SMYR ST € AeT Afekaal §1 g Bl /AT 3R 31 fog o
i, waT, fIRH-RIRe e Yeg Afed & Tid-TH107 ¥ R BR eg 7Y B 7, a1 omeror 7 81 &1 & 9k a9, FraeR & o Rigra 3t S1F andarar =1 31

e We-3R 7eM 31 W RRRIRR qu1 T [fet of 0agR 1 HeTe Te 5 7 <) &1 Bio U9 Srgyd TneT Bt ot HgTe St 1 Trgul sifae $1 & 9 gad 4Tl 3 amoft iR
FIER H TF A1 S F5d U Tg) FRA A1 FG ST AGA BT 6 3| HEGRAT St A Weq P 30T Hial Bt IU i o, Fifep Fia 1 Iaw 7 Forwurdt gma S 31 A A S e
R Y1 earaet et Wt oAt 3 < FH 31 SuRient 2| ST aRaTd Teal BT ortie FHH J ATl A N Pyl Heal A, IV G A A | I IS HH B g ot A1 F

I W I U Siia & refar a1 Foerdr T Bt o

24'\:506:5188553 ST TR e, AR
A IR 3P AfFEr

B 3l orge feat

C & g wifwTar

D TS 3w AR

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
R 2 fou 7T TR @Y ugaR B Y Ul & 9ed Ifd SaR a1d faded 1 99 Sifere-

TR H < 3y Wil 3- amoft Ul B3 | $© AN g9 § TR B 8 A € U1 $o A o4 I g 3R YR <1 € A Afdad! &1 g Bt AT 3UR 1 fazg #
Tifew, e, faRH-3Re e Yeg fdd & Tfad-TH0 81 IR HR Wea oY B 8, foa1 omervr 7 €1 &1 & 9k a9, 3aeR & o Rigd &t o3 andarar =1t 31

e Tee-fed 7o 81 W R quT T1aT Afe df SHagR 81 TeTHET TR 7 37 Gl 31 B T Srgyd e B 2Rt TETeEr St BT 9l siiae S <l § gad ATl 3 amoit $iR
FaER H TF A1 N Fed 4 I8 A A1 FE) 3P| HeMT 1 6 8| FRRAT off 7 Mg B 30T Fia Bt Iur &1 ff, i Hfa &1 I 9 forwurdt yua g 81 a1 3 S i
R S earaeht et W 1 F @ HH B SR A | BT %A Weak BT e B F ATl A S HeT PRt A, IV T Bt A | § ITIHS BT bl gear ot off | 3 &

T R S S0 Sita & el quT Ioaar U ot ot

Q.No: 19 WP .
>a6e585sq T 0 & e @1 H fawde wr dme

A o + W37
B :+ 3

C Fr+ede
D A + wE

Correct Ans : D

Subject : Hindi Bhasha 01
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Passage:
R 2 fau TU TR &Y ugaR B Y UKl & 9ed Ifd SaR a1 faded B 99 Sifere-

TR T & e AfeRrdl B- arolt quT BH | o O g J WUR I W6 T € aU v O H 1 Tsg AR MUR ST € He Afckia 81 Weg Bl AfgHr 3R 31 fawa &
e, Fam, - 9 W WG F Uw-Tm ¥ R PR Ueg 3 B ¥, w1 3R 7 8§11 $H F IR g9, TGER F a1 R 3 B8 anfedr T 7

e Tee-wfad HeM 81 R R au1 garet 2fdd oY SragR 81 AeTe T ¥ 7 <Y B BioA Ud Sigyd |ieH Bt ot | TgTa off 1 gegut Shae St ST & gad ol 3 aroft ok
IR B TF 31 S Fed 4 I8 HRA 3| TG SAPT AGFT BT @ 3| HIRAT O A ek P AU Hia B ST Bt o, Tl B BT S T RRwARdt wura S 1A A B s
R S earacht et W 1 F @ FH B SR ff | ST ARy Weak BT e B F ATl A S FeT Pt A, IV R Bt A | § ITIIHAS A bl gear ot off | 3 F

T R S U Siia & el quT Fohaar U ot ot

%1,:5(:3:5280555 SR TR P SR, SR, % o R 3 g wnedenar T 81
A o, SaER

B HGER, AIER

C P, TR

D [y, wH

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

AR R T T T #Y UgeR UR U UR & 9eY 3fd SaR aTet fawed a1 9 $ifere-

TR § & e ekl 8- arolt qut rf| o AN g J TUR 1 W6 R € au 9 O $H 1 Tsg 3R MR S € He wfkal §1 weg 1 Afgar R 31 faza A
e, o, fH-TRa 99 Usg kT & Ufdep-TAI0T 81 R BR e oof B €, R SRl 7 81 &4 % 7R ge, sgdeR & &1 Rigi & oIS arefesar el 81

e Tea-Jfed TeM 81 WR R quT T1at fdd df g 81 TeTeEn TR 3 37 QA &) B3 T gy e B 2Rt TeTeE St 1 gl siiae 3 <l O gad ATl 3 aroft oiR
IR B TF A1 ol Fed 4 I8 FRA A1 TG SABT HGT BT 6 3| HERAT Ot A Weg P UET Hi Bt ST Bt o, Filfep B 1 S 9 RRwARdt gu1d S 31 a1 A B ks
R S earach e WA 1 3 @ FH B SRt ff | ST faRary weal Bt et B F ATl F S FeT Pt ff, IV R Bl ff | § IIHAS A bl gear et off | 31 F

T W 3B 30 Siia & Arferar qur gwerdr wre o 2R

Q.No: 21 ' e
246658556 1 O e TIeq T g St et & e far mar g2

A faara
B [qTeET
C ufgwr
D A

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
e A U U TR Bl ugaR B TN URAl & 9aY IRd SR ard [ddmed &1 9o Bifon-

TR § Y o fekral §- arolt a1 w11 F AN 994 F TR I e W § U $© O 1 Y1 g 3R MR S & TeT ekl 1 g o1 Afen ouR 71 fowa &
e, e, foRH-IRe e g ek & Ufdep-TAm0T 81 R BR e oodf B €, R S 7 81 3 & §7R ge, sgaeR & &1 Rigi & wis arefesar et 81

e Tea-Rfed TeM 81 W FRRRird qut Srat Afd df g 81 TeTe e A 37 SN @) S T gy e B 2Rt weTe St &1 gl sitae S <M O gad ATl 3 aroft efR
TaER H TF 31 W Hed ¥ IE IR A1 FE) 3P HEHT BT 6 8| FRRET O - WG B 30T Hia Bt Iurg @1 off, Fifs pia 1 I 7 R yumE g 719 3 B miws
TR ST Wegraeht et Wit o1 3 @ o Y Suiient off | et fowar wreal @t srdem FHHf F Tl F N el HRaht N, IY G FRA 2| § IS FH D1 g < | s=ht &

T W 3B 30 Siia & Wrfear qur gwerdr we @t 2R

Q.No: 22 ' y
246658557 e B ¥ BH-91 weg Iuw T T HR ST T 82

A Lol
B ardfear
C SHTEROT
D Aot

Correct Ans : C

Subject : Hindi Bhasha 01
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Passage:

RN TR BT UgaR U Y URAl & TN Ifd SR a1 faded &1 997 Sifere-
el gu I gfH-uer,
IR 3T ST PR
it <t ST ee- o,
2 TR I7 em-ofy 1
el §U 1Y B HEH

A AN IR -4

St o srTeford end-agfH,
2 gURY Ig em-ayfi
ot ot & et e oy,
AR BT ol fHAF HRY |
St off STgford ga-HfH,
2 gURY I% smd-ayfi
U USIOT AR A,
ol g1 Fd-ged S |
S Rt STfor e ofr,
2 gURY I% smd-ayfi
ARATT YRA- el o,
dRug o Fa- wrfEE o |
< ot ST dR- afy,
2 gURY I% smd-ayfi

Q.No: 23 . . . )
346669050 [T 1 ¥ ST RT3 TG BT A1 T

A TR G fgadt
B wgTedt aaf

C A e

D geafterd

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

=T T BT TgHR TH Y URA F TN IFd SR A1) fadbed BT 90 BIfvT-
el §U T G-y,
T e ST B
St ot STeqford ey,
I8 TART g M-y I
el gU Y 71 HeH

q TR IR ¢-emfar |

it ot SrTgferd e,
I8! TR TS M-y
et et 3 et o o,
TR &7 ot S U |
S oY SATegford ga-yf,
I8! TR TS M-y
U U7 AR A,

ol e ga-qed & |
St off STTgferd R o,
I8! TR TS M-y
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FRATAT Ra-Hifdreht off,
dRug o Fa- BIEET o |
St ot STeforet diR- oy
I8! TR TS M-y

QNo: 24 profufeg # & Swjad TR 31 SfE 2 @ ¥

2466690S1
A a8 5 U Smaf-yfar

B e &1 WY St W |
C dRug +ft a- e A o
D v gl a-gea &I |

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

RN TR BT UgaR T T URAl & FaY Ifad IR a1 fadved 1 9 SHifore-
STl §¢ N f-Uu,
IR X ST P
S ot ST e-yfy
I8 AR g Sm-fH |
el §U 1Y 81 HEH

A TN IR - YT

St off SR ev-yfA,
I8 AR 7 -y
ot ot & et e oy,
™ BT ot fHE W |
St ST gsa-
I8 AR 7 -y
U TSI AR T,

Ui g1 Ga-ged o |
St off ST IRe- ofiy,
I8 AR 7 -y
ARAMT YRA- el o,
drug off pa- FfEE o
S ot STeford dR- offy,
I8 AR 7 -y

Q.No: 25  Iwfad UHiY & SFER Rad RIF Bt gfd sifore-

2466690S2
St 2t ST goa- Y, 98t & Rt %

A 4g-yfH

B 3r-yfyr

C gaf-yfiy

D rer- yfi

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

R BT $Y UHR IR Y T & Jod SR IR a1 et 1 =9 HIRTT-
Rl U T H-TeH,

IEIfe; e $ifd A
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St oY STegferd oy,
I8! TART g M- I
TR §U WY & HEH

q TR IR ¢-emfar |

it ot SrTgferd ey,
I8! TR TS M-y
et et 3 et o o,
TR &7 ot S U |
S oY SATegfor -y,
I8! TR TS M-y
U U7 AR A,
yo eI ga-ged oI |
St off STTgferd R o,
I8! TR TS M-y
dRug o Fa- BT o |
St ot STeford diR- o,
I8! TR TS M-y

Q.No: 26 PN .
246669053 e 7 ¥ IR A S g

A & W =
B oy W& HiY
C e W

D 3rarfe R Ay

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

& BT B UGHR I T U P Ta9 IfId IR a1 fabed T Tg Bifo-
el §U AT -5,
I TS ST B
St off STTeferd ey,
g gAY Tg Smd-fHy 11
el §U Y 71 HeH

q AT AR ¢-emfar |

it ot SrTegferd e,
g gAY Tg Smd-fHy|
et wt A et e o,
TR &7 o i u |
S oY SATegfor ga-yf,
5 FARY Ig -1
U TSIIT AR A,
oot 81 ga-qed S |
St off ST ke o,
g gAY Tg - fHy|
Ao ot - ST o |
St off STegford diR- o,
g gAY Tg - fHy|


https://applink.adda247.com/d/XhqWf9lSap
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QNo: 27 \sferrey 3 ey ST a2

2466690S4
A 3

B Sty
C =
D 3

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

=T T BT TgHR TE T URA F TN IFd SR aTd fadbed BT 79 BifvT-
STl §¢ o iy,
IR 3T ST B
St ot STeford ey,
g gURY Ig sm-yfy 1
el §U 1Y B HEH

A N IR -y

it <t SrTgferd ey,
g 5N I% smd-ayfi
et wt & et e urd,
TR &7 ot S uR |
S oY SATegfor -y,
g 5N I% smd-ayfi
U GSIIT AR A,
wol e ga-qed & |
St off STTegford R o,
g gURY I% smd-yfi
dRug 1 Fa- BIEET o |
St ot STegford diR- o,
g gURY I% smd-yfi

246669055 I R T e, FE
A WRG- It

B - B

¢ gH-gu™

D ga-ged

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

=T T P TgHR TH T URAl F TN 3T IR aTd b BT 70 BIfvTe-
el §U AT G-,

I TS ST B

St off STeqford 4y,

T8I TART g M- I

el §U Y B HeH

q TR IR ¢-emfar |

it ot SrTegferd e,


https://applink.adda247.com/d/XhqWf9lSap
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8 AR Tg -y

et et & et e e,

TR 1 2t S ur |
S At ST gy,

I8 AR Tg M-y

U TSI ARRT M,

oot 81 ga-qed S |
< ot STl - ofi,
8t AR Tg - yfiy ||

IR 2ff - FIER o |
S o ST dR- o,

8t AR Tg - yfiy ||

Q.No: 29 potefea ¥ § IR T BT TR 4T 1 32

2466690S6

A ug
B fa
C Ricd
D SR

Correct Ans : D
Subject : Hindi Bhasha 01

QNo: 30 iy 5 e e 3 Fefid F=a & afep o) o o B17 ue RaR Fe A S frad R far ma 22

2468771
A o= forams
B s Ry
C T TR
D faftrrm TR

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 31 A cricket match finished at 4:30 pm. If the match is being played 6 hour. At what time did the match start?
2461640 TS frdre A9 AT 4:30 o THIE G| 3R B 6 T Tl o 36T 31 9 v 07 = §on U1?

A 9:30 am
JgaE 9:30 T
B 10:30 am
e 10:30 T
c 11:30 am
Jag 11:30 T
D 12:30 pm
12:30 WTE

Correct Ans : B

Subject : Mathematics

(224'\‘606:83925 What should come in place of the question mark (?) in the following question?
18% of 600 + 45% of 900 =7

frfarfas v § v fog (7) & ©IW | 31 o791 9ifer?
600 =1 18% + 900 w1 45% =7

486

486


https://applink.adda247.com/d/XhqWf9lSap
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516

513
C

513

498
D

498

Correct Ans : C

Subject : Mathematics

2""\‘6(; 13{434 Amrit spends % of his income on food, ; of 1t on house rent and the remaining which 1s Rs.630 on
the other commodities. Find his house-rent.
ST ST ST BT U UISH R, - TR & 51T R SR < 630 I 31 qegail TR W oheell ¢ | Sl
HeBH-fERTT T Bl
Rs.5040
A
¥ 5040
Rs.3520
B
¥ 3520
Rs.4890
c
T 4890
Rs.4458
D
T 4458

Correct Ans : A

Subject : Mathematics

Q.No: 34 4 years ago, the ratio of the ages of A and B was 2 : 3 and 4 years hence it will be 5 : 7. Their present age are respectively:
2467274

49 UG, A 3R B BT ST BT UG 2 : 3 UT 3R 4 Y SIG TG 5 : 7 BT ST GIAM 1g HA: B

36 years and 40 years

A

36 a9 3R 40 T

32 years and 48 years
B

32 99 3R 48 T

40 years and 56 years
C

40 T 3R 56 T

36 years and 52 years
D

36 af 3R 52 af

Correct Ans : D

Subject : Mathematics

Q.No: 35 Average age of three boys is 30 years. Ratio of their age is 1 : 2 : 3. Find the age of youngest boy in years.
2467299
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&7 Al B 3d oy 30 9 B1 IS AR BT U 1 : 2 : 3 T T BIe TSP DI 3G I F 1 B |

10
A

10

12
B

12

15
C

15

5
D

5

Correct Ans : C

Subject : Mathematics

Q.No: 36 Find the area of an isosceles triangle in which each of the equal sides measures 30 cm and the third side 48 cm long?

2467527
T gufgaTg Bye &1 & J1d ST SR Ude THE YST B A 30 96 SR AR e 48 It et g1
400 cm?
A
2
400 i
200 cm?
B
2
200 Tt
432 cm?
c
2
43297
445 em?
D
2
445 Tt

Correct Ans : C

Subject : Mathematics

Q.No: 37 Relation between diameter of circle and radius is

2467543
9 S I 3R B & i ey B
d_3
r
A
d_3
r
E
3=1
B
E
a=1
2d
C
2d
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2r
Correct Ans : D

Subject : Mathematics

Q.No: 38 Volume of the cylinder whose height is equal to its radius r is?
2467558

T BT 1T R Fard Iqa! Bea r S R B, B2

4
A
'|'[f'1
4
r®
4
B
r®
4
mr®
3
C
r®
3
mr?
D
mr3

Correct Ans : D

Subject : Mathematics

Q.No: 39 The ratio of areas of two triangles is 4 : 3 and the ratio of their height is 3 : 4. Find the ratio of their bases.

2467621

& PG & STl BT 3GUT 4 : 3 B SR SPT SHaTS BT U 3 : 4 71 I SMYRT BT U 1d PO |

16:9
A

16:9

9:16
B

9:16

9:12
c

9:12

16: 12
D

16:12

Correct Ans : A

Subject : Mathematics

Q.No: 40 Each interior angle of a regular polygon 1s 150°. The number of side 1s:
2467674

T T TGS T T S For 150° 1 T #] s b s 2

10

10
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12
B

12

14
C

14

8
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 41 One root of a quadratic equation is 3 + 42 . The quadratic equation is:
2467804

ferena TEi®R0 &1 Ue gd 3 + 2 81 fgua g g:

x-6x-7=0
A

x-6x-7=0

¥+ 6x-7=0
B

x4+ 6x-7=0

¥+6x+7=0
C

¥+o6x+7=0

x!-6x+7=0
D

xX-6x+7=0
Correct Ans : D

Subject : Mathematics

Q.No: 42 Two parallelograms stand on equal bases and between the same parallels. The ratio of their areas is:
2468144

& GHiR TGS TAF MURT R SR FAM THicR sl & §id TS B €1 S &5 b1 SUd B:

1:1
A

1:1

VZ:1
B

VZ2:1

1:3
C

1:3

1:2
D

1:2

Correct Ans : A

Subject : Mathematics

(23‘-‘"‘6‘; 1‘;31 In a right triangle, one angle is 40° then find the ratio between acute angles.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

UH THGIV Fiyet §, U S0 40° S T < D101 & o9 BT 391d J1d DI

6:7
A

6:7

3:4
B

3:4

5:4
C

5:4

3:5
D

3:5

Correct Ans : C

Subject : Mathematics

Q.No: 44 The importance of mathematics at primary level is
2468450

T R W T BT Ted K

cultural
A

Hieplaw

mental
B

R

practical
C

AEIRG

religious
D

wufife

Correct Ans : C

Subject : Mathematics

Q.No: 45 Given Pie-graph shows the cost of construction of a house. If total cost of construction is Rs.1500000, then the amount spent on labour is.
2468535

fu e urE-evE & v W F v & @ $ axiiar mn ¥1 A R & i 1 $d @ $.1500000 B, @ wegd # @ g
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Rs.90000
A

%.90000

Rs.250000
B

%.250000

Rs.360000
C

%.360000

Rs.375000
D

%.375000

Correct Ans : D

Subject : Mathematics

Q.No: 46 On subtracting the sum of 3m?- 5m and — m? + 2m + 5 from the sum of 4 + 3m and 5 — 4m + 2m?, the
2469901 eyt is-

4+3m TS5 - 4m + 2m? FATHF Y 3mi- 5m HT—m? + 2m + 5 & 19T & G979, ITOTH AT 8-

4m + 5
A

4m + 5

3m+5
B

3m+5

4m + 3
C

4m + 3

2m + 4
D

2m + 4

Correct Ans : D

Subject : Mathematics

Q.No: 47 Find the ratio of diagonal of cube to side of cube.

2473400
T & fadul &1 99 Bt Yo F ST 1 PR
v’g:l

A
ﬁ:l

B ﬁ:l
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\.’T 01

\-"'Z: \-"?
C

V2:3

V32
D

\."'g: \."T

Correct Ans : A

Subject : Mathematics

Q.No: 48 The most useful teaching aid in mathematics is

2475516 .
T & vy IJuartt e werad §
Visual aid
A
Y Feradl
Audio aid
B
SHifEar T
Audiovisual aid
C
TGy HEradl
D None of the given options
fau T faent & | #IS T

Correct Ans : A

Subject : Mathematics

Q.No: 49 NCF 2005 emphasises on constructivist approach of learning as it focuses on
2476028
TR 2005 e F TTEET ERH0 W SR 1 § Fifh T8 b R Hisd 872

effective lecture and instructions by teacher

A Riere gRT gTd ST SR
memorization of definitions and formulae

® aReuTaTat oty A B arg TEET
submission of regular homework

¢ frafira giwad s Fn

D active participqtion of learner though engaging activities
T Tt & srave Riemdf @t afeg yrferd

Correct Ans : D

Subject : Mathematics

Q.No: 50 Which two signs should be interchanged to make the given equation correct?
2479394
3-4x3+27+9=12

fu e TR0 B Ut S & R {5 < et Y amuw B s s Aige?

3-4x3+27+9=12

+ and +
A

+ IR+

+ and x
B

+ R x

-and +
C

- R+

D + and -


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

+ 3R -
Correct Ans : C

Subject : Mathematics

Q.No: 51 If‘'+’ means ‘X’ '-" means '+’ x’ means '+’ and '+’ means ‘-, then answer the following question based on this information.
2480928
6-9+8x3+20="7

i+t e 'x, - BT 3 4, ' T 3 ' 3R ' T o - B, |l 3 TIMRY & SR W Ffeiad uy &1 SR &

6-9+8x3+20=7

-2
A

-2

6
B

6

10
C

10

12
D

12

Correct Ans : C

Subject : Mathematics

Q.No: 52 In algebra we study about the ‘calculation of:
2481379

oo & g9 @Y TOAET F IR T 31T B §:
digits

A 3w

B nymerals

letters and symbols
3HeR MR weliw

None of the given options

D g e et o } B
Correct Ans : D

Subject : Mathematics

Q.No: 53 Major objective of organisation of Exhibitions is to

2481725
exiE & SIS BT e 98 2
grade students on practical skills.
A T TR B T A
provide opportunity to students to compete with others.
® B B gRI & Ay wfawgyf A BT @R Yo HAT
c provide opportunity to students to showcase their creative ideas.

B B U TS AR B UelRfa $ 1 @R e F1

D provide opportunity to students to enhance their academic performance.
BT B 5 NeMIF Y= B 9g9 BT TR M AT

Correct Ans : C

Subject : Mathematics

Q.No: 54 Affective domain focuses on adoption of a value system as a part of Iifg style in

2481776 gy S frad Sia Aet & T RW & TU F T Hed TS &Y T R ST R -

A Responding
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B Valuing
g T

Io Organization
e

D Characterization

Correct Ans : D

Subject : Mathematics

24'\;301385:’»57 P, is the average of all prime numbers below 12 and P; is the average of all prime numbers
between 12 and 30. What is the value of 5P; - P;?
12 & @ weft s wEEt = stea P aur 12 3R 30F o weft arenew WEEt w1
sitwa p. &1 e, - P& A fEae B2
7.5
A
7.5
7.8
B
7.8
8.6
C
8.6
9.8
e 9.8

Correct Ans : B

Subject : Mathematics

Q.No: 56 Evaluation in mathematics is necessary because

2482468 o 3 s e &
to diagnose children’s weakness and strength for further instructions.
A i 5 Pt  Rrg it ot il ok a1 Prar et & fae
It helps in employment of teaches.
° g e 35 o 1 g e B
It consumes time
c TOH qHY T 8
D help pqpils to compete with each others.

B TP g & AT wfeeauf o¥a & Aee Hear 1
Correct Ans : A

Subject : Mathematics

Q.No: 57 Remedial measures and enrichment programmes for slow lerners are provided by which type of evaluation
2482482
1. Formative

2. Summative

it iy & e Tt F T STIRIES IURT SR ae BRiGH 59 UHR % Gl gRT Ve BT 9 §
1. TS

2. GRS

Only 1 is correct

A Fad 1T 8

Only 2 is correct
Haa 2 W R

Both 1 and 2 is correct

1 3R 2 <1 WE1 B

D Neither 1 nor 2
a1 eiRAE 2

Correct Ans : A

Subject : Mathematics
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Q.No: 58 Limited to quantitative description of pupil’s performance is
2482509 .
faenfifel & v & AETEs faaRo de 9 ... H

Test

A
g
Measurement
B
Y
c Assessment
D Evaluation
PRICE]

Correct Ans : B

Subject : Mathematics

Q.No: 59 The process of obtaining numerical value is?
2482517

TS A U FH BI Ufoban g2
A Test
Tieror
B Measurement
HIY
c Assessment
D Evaluation
RIS

Correct Ans : B

Subject : Mathematics

Q.No: 60 Which of the following is/are strands of the primary mathematics curriculum?
2482794

A. Number

B. Divisibility

C. Data

D. Measures

Pafied 3 3 SH-u1/A Rided urfive i wewm @ e 8782
A. gem

B. {ToaT

C. 3fiFs

D.

Only A,Cand D
Fad A, C 3R D
Only A,Band C
Faa A, B3R C
Only A, Band D
Faa A, B IR D

D AllA, B, Cand D
A, B, C 3R D |t

Correct Ans : A

Subject : Mathematics

Q.No: 61 Main reason of biodiversity in India
2469775

URd & S e &1 g HR 2-

Sliding of rocks

TEH BT fRAwsT

B Pollution
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gy

Forest fire
C

a9 offr

Lack of habitat
D

IR R F Ut

Correct Ans : B

Subject : Environmental Study

Q.No: 62 Approximately how many tonnes the ratio of oxygen to carbon dioxide?
2470088

RIS 3R BT STESTZS BT AT TTHT fbat o 82

6 tonnes
A

6 ¢

10 tonnes
B

10cqd

12 tonnes
C

12¢9

15 tonnes
D

15¢9

Correct Ans : C

Subject : Environmental Study

Q.No: 63 If all the plants of the earth die suddenly, all animals dies due to deficiency of
2470128

afe sEme gl & T i) aTe B S ae gt vt fewet St § ThI 8t sd-

Food
A
e
Cloth
B
-
Oxygen
C
SffefterT
Shelter
D
ST

Correct Ans : C

Subject : Environmental Study

Q.No: 64 As per NCF 2005, which of the following is the theme of EVS?
2470242

A T, 2005 F IR, FE § I T vafavor &1 g Ar?
A Food
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e
Weather
B
Haw
Energy
C
St
Solar system
D

R vsq
Correct Ans : A

Subject : Environmental Study

Q.No: 65 What should be the ideology of a good teacher?

2470367
s 3 Riere Bt faaruRT @ g afge?
Idealism
A
refarg
Realism
B
guTdarg
Pragmatism
C
HgqgRdIG
Naturalism
D

ygpfaarg

Correct Ans : C

Subject : Environmental Study

Q.No: 66 The curriculum of Environmental Studies is structured by
2470386

UiaRUT ST & UTGTshH Pl TRTT B olell &

NCERT
A
AR gRI
NCTE
B
LEuICER-]
NCC
C
TRIRE gRT
National Policy on Education
D

gt e fify grr
Correct Ans : A

Subject : Environmental Study

Q.No: 67 Name the bird which lays its egg between the stone.
2470619

GET IT ON

Google Play
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I Ueft BT T IA1ST o URRT & S U ST AT 82

Indian Robin
A
YR A=
Dove
B
€q
Sparrow
(@
i
Pegion
D
PIR

Correct Ans : A

Subject : Environmental Study

Q.No: 68 While repairing the traditional stucco, which paint should be used formulated for stucco?
2470755

YRUND TR B AR HRd TH, WReR & oY fore Ue o1 Uzt fbar ST anfgu?

Oil paints
A

Aefa @

Latex paints
B

At dew

Regular paints
C

frafim ge

Water paints
D

qrex Yo
Correct Ans : B

Subject : Environmental Study

Q.No: 69 At what pH acid deposition has a harmful effect on terrestrial system?
2472132

59 pH W 3T F STHIT BT VT dF R SABRS THIT TSl 82

At 4.2
A
4.2. W
Above 6.2
B
6.2 A FW
Below 5.1
C
5.1
At 5.5
D
55. W

Correct Ans : C

Subject : Environmental Study
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Q.No: 70 Pollutants that are emitted directly from identifiable sources are produced both by natural events and human activities are called
2472343

g A G @ G IRl 87 a1 ugue Uipfae el 3R Hidt iafafdt A @ Saaw 8 8, ped 8

photochemical pollutants

A

ST TS Ugud

secondary pollutants
B

o wgus

primary pollutants.
(o}

wfE uguE

tertiary pollutants
D

TS ygus

Correct Ans : C

Subject : Environmental Study

Q.No: 71 Which organism classification can breathe through moist skin?
2472394

D 1 Sffd FEifeRur T &9 S qead F W F Tl 92

Birds
A

uaht

Mammals
B

YR

Reptiles
C

wirga

Amphibians
D

SHTR

Correct Ans : D

Subject : Environmental Study

Q.No: 72 Chronic exposure of the leaves to can break down the waxy coating that helps
2472537
prevent excessive water loss and leads to damage from diseases, pests, drought and frost;

% for iyt &1 TR Wud AR BT B s Tdhdr & S SAfd u &
THUH B Ah A Aee BT § AR ARG, Fiet, T iR 3¢ I ThaH B 3R W 8;

Water pollutants

A

ST Ugue

Soil pollutants
B

el ugue

Air pollutants
C

arg vgue

D Agriculture pollutants

GET IT ON

Google Play
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P wgu®
Correct Ans : C

Subject : Environmental Study

Q.No: 73 The smallest form of family

2472587
URER FT T BreT U &-
Nuclear family
A
T uRar
Joint family
B
wgF afar
Extended family
C
forwqa afiawr
Blended family
D

fafta aRer
Correct Ans : A

Subject : Environmental Study

Q.No: 74 Appiko movement was started in

2473121
TP ffeia Bt YA Fa g3 o
8 September 1982
A
8 fyder 1982
10th September 1981
B
10 fdaR 1981
8 September 1983
C
8 fdav 1983
15th September 1984
D

15 fdeR 1984
Correct Ans : C

Subject : Environmental Study

Q.No: 75 In which of the following places is the ISRO Propulsion Complex (IPRC) located?
2473914

frofied & ¥ frg ®M R 383 e Frceq(3ns. @ e, ) R 22

Kochi
A
P
Mahendragiri
B

TReER

C Visakhapatnam
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fa=maTTT

Sriharikota

frefarer

Correct Ans : B

Subject : Environmental Study

Q.No: 76 In which year was the first Indian Remote Sensing Satellite capable of providing in-orbit stereo image/jpgs successfully launched?

2473931
Fefa fifem ufafds uem F=7 § Yam YR 1 Ugd geR Hded Suve f5u af vafta o mar ure
2001
A
2001
2003
B
2003
2005
C
2005
2007
D
2007

Correct Ans : C

Subject : Environmental Study

Q.No: 77 Which of the following rocket debris has fallen in the Indian Ocean near Maldives in May 2021?
2474056

fofied & & S 1 Fbe Hae 9% 2021 F AT & U g ASRIFR & Ry 87

Long March rocket, Russia

A

@1 AT Wbe, T

Long March rocket, America
B

@1 A Wbe, sAfkeT

Long March rocket, Australia
C

w1 W e, SffemT

Long March rocket, China
D

@11 AT Mbe, A
Correct Ans : D

Subject : Environmental Study

Q.No: 78 In which year Yuri Gagarin flew into space and orbited the Earth?
2474205

T TRA F 5 aef siafer & IH R SR gedt 3 afkesr B
1961

1961
B 1919
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1919

1987
C

1987

1969
D

1969

Correct Ans : A

Subject : Environmental Study

Q.No: 79 Which of the following is the tallest masonry dam?
2475934

Frofafed & & 9o Sa1 o sty (9 SW) o9 w1 82

Nagarjuna Sagar dam

A
AR AR S
Hirakud dam
B
s afy
Bhakra Nangal dam
C
YIRFST AT afer
Tehri dam
D
feedi oy

Correct Ans : A

Subject : Environmental Study

Q.No: 80 Which among the following is the largest indoor stadium in Madhya Pradesh?
2476403

TR # FEfied § ¥ 9ol 981 3SR Rfeay & a1 82

Nehru stadium

A

Fow wfsam

Aishbagh stadium
B

ST wfsTm

Abhay Khel Prashal
C

T W T

Usha Raje Stadium
D

I I RfEIw

Correct Ans : C

Subject : Environmental Study

Q.No: 81  Which of the following sports was Shankar Laxman associated with?
2476532

TR deru fafaied § ¥ frg 99 9 93 &2
A Football
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Peara
Kho-kho

@ r-@r
Shooting

fe

Hockey

glot
Correct Ans : D

Subject : Environmental Study

Q.No: 82 Which sport is Captain Roop Singh associated with?

2476581

v w0 Rig 1 dey frw 99 9 32

Cricket
A

frdbe

Football
B

peard

Hockey
C

&t

Kabaddi
D

Fag!

Correct Ans : C

Subject : Environmental Study

Q.No: 83 A town which is known for being a place of pilgrimage/jpg is called what?
2477936

T TR S el R % &0 & ST Sl 8, &1 Heer 82

Religious Town

A
uifife TR
Cultural Town
B
wipfas TR
Industrial Town
C
e TR
Trading Town
D

RS TR

Correct Ans : B

Subject : Environmental Study

Q.No: 84 A thin layer on and around the earth which sustains life is called what?
2477979
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gl W 3R 3P IR 3R Teh Ueiell TR St Sfia &1 Fafg dect §, o1 wgand 82

Environment

A
TYTaRUT (TAARIRRE)
Asteroid belt

B
&FIE W (TRATS Iw)
Biosphere

C
Shigrsd (FRRPRR)
Ozone layer

D

3 R

Correct Ans : C

Subject : Environmental Study

Q.No: 85 Apis florae is a type of -
2478062

WY T TP GBR BT g-

Flower
A
L gl
Hen
B
it
Bee
C
TyHRdt
Cow
D
m

Correct Ans : C

Subject : Environmental Study

Q.No: 86 Which of the following is the full-form of SLAS?
2478553

TH.09.0. 09, &1 guf w0 ol # 3§ sh-ar e

State Level Achievement Survey

A
Re daa sfiadic |
System of Learning Assessment Sheet
B
e sifw @i sde e
Self-Learning Assessment Sheet
(@
Hep-afr siwde e
State of Learning Attainment Score
D

Correct Ans : A

Subject : Environmental Study
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Q.No: 87 It is evident that during the COVID pandemic lockdown reliance on -

2478627

I8 W & Fifes memRt dieersd & IR FEfild R FRkdr # 58 39 TeR uftad o § -

ICT (Information and Communication Technology) has increased while TLM (Teaching Learning Material) has decreased.
A

HTE. A, (I R HUR weifa) A 3f 5 8 wais doua.em. (Rueor Raor wr) § w9t o 31

ICT (Information and Communication Technology) has decreased while TLM (Teaching Learning Material) has increased.
B

g, A, (FET 3R TUR W) & ot o § wafe dua.wa. (Rreror Ryeror wmwh) # afs g$ 81

ICT (Information and Communication Technology) and TLM (Teaching Learning Material) has decreased.
C

g, LA, (FET 3R TR W) ok dua.wa. (Rieror Rieor wrwh) & ot ong B

ICT (Information and Communication Technology) and TLM (Teaching Learning Material) has increased.
D

g LA, (FET 3R TUR W) ok dua.wa. (Rreror Rieor wrwh) # afS g8 81

Correct Ans : D

Subject : Environmental Study

Q.No: 88 What amount of carbon dioxide in the atmosphere is known as the delicate proportion of the same, crossing which the natural greenhouse balance
3022669 may get disturbed?

TGHST B FTa- SRATRISS I fFa- A6 S F AE U F =T § T 9l 8, B IR 37 ¥ Uil MHeey I TeasT JHdr 82

0.1%
A

0.1%

3%
B

3%

0.3%
C

0.3%

0.03%
D

0.03%

Correct Ans : D

Subject : Environmental Study

Q.No: 89 Which of the following is a glass chamber in which plants are grown to provide them warmth by trapping sunlight?

3022670
frofafad & 9 o O U S 1w a1 IR 7 Rd diel B, g F v 3t 1 uem S % g s § 82
Green house

A
Hersw
Plantation chamber

B
R Hef
Sunlight chamber

C

I P AR B

D Glass house
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T g9
Correct Ans : A

Subject : Environmental Study

Q.No: 90 What percentage of the world's population was living in urban settlements in the year 1800?
3022674

99 1800 H fy &t e &1 a1 ufowd TR ikl & Y8 @1 A

5%
A

5%

20%
B

20%

3%
C

3%

11%
D

11%

Correct Ans : C

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that's fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.

(22""\‘70(;9911750 Which of the following is the most suitable title for the given poem?
A World of nature

B People’s opinion

C Desires of life

D This is my father’s world

Correct Ans : D

Subject : English Language 02


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that's fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.

24'\17%9912751 What is the mood of the given poem?
A nostalgic

B pessimistic

C nature loving

D animal loving

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that's fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.

Q.No: 93 \ . A L ) . s
2470917S2 Jesus Who died shall be satisfied’. Which of the following is opposite in meaning to the word ‘satisfied” in the given line?
A content

B intolerant

C pleased
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D certain
Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that’s fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.

2;1'\17%9914753 ‘He speaks to me everywhere’. Which part of speech is the word ‘everywhere’ in the given line of the poem?
A Noun

B Adjective

C Adverb

D Pronoun

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that's fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.
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(221\‘7%9915754 ‘I rest me in the thought’. What does the poet talk about here in the given line of the poem?
A the poet wants to rest while thinking about his family

B the poet wants to get some rest as he is tired

(o} the poet rest himself in the thought of thinking about his father

D the poet thinks about his dogs that died a while ago

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that’s fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.
This is my Father’s world: the battle is not done:

Jesus Who died shall be satisfied,

And earth and Heaven be one.

%‘";%:16755 ‘In the rustling grass I hear Him pass’. Whom does the poet listen to here in the given line of the poem?
A his dog

B a snake

C his father

D his child

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
This is my Father’s world, and to my listening ears

All nature sings, and round me rings the music of the spheres.
This is my Father’s world: I rest me in the thought

Of rocks and trees, of skies and seas;

His hand the wonders wrought.

This is my Father’s world, the birds their carols raise,

The morning light, the lily white, declare their Maker’s praise.
This is my Father’s world: He shines in all that's fair;

In the rustling grass I hear Him pass;

He speaks to me everywhere.

This is my Father’s world. O let me ne’er forget

That though the wrong seems oft so strong, God is the ruler yet.

This is my Father’s world: the battle is not done:
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Jesus Who died shall be satisfied,

And earth and Heaven be one.

24'\1700:9917756 What does the word ‘wonder’ mean in the given poem?
A the state of being held in low esteem

B a feeling of great surprise and admiration

C extreme greed for material wealth

D the act of deceiving or acting in bad faith

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

%"\;069998550 Why did the author give its VCR to raddiwala?

A Raddiwala was poor and needed the VCR

B His daughter objected to keeping it in the house.
(o} Advancement of technology made it useless

D A new version was gifted to him

Correct Ans : C

Subject : English Language 02
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Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

24'\17%9999551 Why did the author check the date when he first heard about the VCR?

A It was his anniversary date and he wanted to gift something to his wife
B He was fond of dates

(o} He wanted to make sure that he wasn't fooled by a prank

D His friends were coming on this date

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

(221\‘70691905052 Which of the following statements can be inferred from the passage?

A DVDs are much better than VCRs.

B Technology has brought many changes in the movies.

C Technology has changed a lot but the content remains the same.
D There is constant upgrading in technology devices.

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.
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The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

34';%91905153 Which of the following statements is NOT correct here according to the given passage?

A the most ancient museum pieces are the atavistic mechanisms of love, desire and fear

B the unstoppable avalanche of technological progress has made yesterday’s miraculous inventions into today’s museum pieces
C the author first read about VCRs in a Time magazine article

D it took the author a moment to realise that they were tapes for a VCR s

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

(22""\'7%91905254 *‘Which in turn have been made obsolete by screening devices’. Which of the following is nearest in meaning to the word ‘obsolete’?
A defective

B out-of-date

C current

D contemporary

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
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book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

(21""\‘7(;91905355 ‘Too much of what is commonly trending’. Which part of speech is the word ‘commonly' in the given line of the passage?
A adjective

B pronoun

C adverb

D preposition

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?

And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

Q.No: 104 ‘Because advancement in technology has made the VCR as extinct as the dodo’. Which of the following is opposite in meaning to the word ‘extinct’
2470995S6 j the given line?

A existing

B lost

C asleep

D dead and gone

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

The other day while rummaging through a disused storage space I came across several dusty, black plastic boxes. It took me a moment to realise that they were
tapes for a VCR - a Video Cassette Recorder. I hadn’t seen a VCR tape, much less watched something recorded on one, for many years, having long disposed of
our VCR to an obliging raddiwala. And the reason that we’d done this was because advancement in technology had made the VCR as extinct as the dodo by the
late 1990s, and replaced it with the DVD - or Digital Versatile Disc - player. I first read about VCRs in a Time magazine article in 1970, and had at the time
marvelled at the concept of bringing an entire movie theatre into your home via a machine smaller than a briefcase into which you inserted a box the size of a
book and watched whatever film or other recording you wanted to see. I checked the dateline of the issue to make sure it wasn’t April 1, and the article wasn’t an
All-Fools’ Day spoof. But no, it wasn’t April 1, and the article wasn’t a spoof. Thanks to the VCR you could bring the magic of movies into your home. Could
anything be better?
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And the answer was yes, in the avatar of DVDs, which in turn have been made obsolete by screening devices like smart TVs and phones on which you can watch
films, news and anything else being streamed 24 x7. The unstoppable avalanche of technological progress has made yesterday’s miraculous inventions

into today’s museum pieces, and completely changed the world around us, and the way we communicate with it, and with each other. But while the technical
means of communication have far outstripped the boundaries of erstwhile imagination, the content of what is communicated, in films, news, or social media, has
only too often remained much the same, if not actually regressed. Too much of what is commonly trending, what we see, hear and read, on our digital devices,
deals with the continuing brutal oppression of caste, creed and gender, with rabid intolerance, violence and despair. The most ancient museum pieces, which
tragically are in use today, are the atavistic mechanisms of hatred, rage and fear, outworn relics of the primaeval human mind.

24';%91905557 ‘Bringing an entire movie theatre into your home’. Which part of speech is the word ‘entire’ in the given line?
A noun

B adjective

C adverb

D conjunction

Correct Ans : B

Subject : English Language 02

Q.No: 106 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2471110
Could you spell your name , please?
A proper
B than
(o] again
D direct

Correct Ans : C

Subject : English Language 02

Q.No: 107 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2471111
She wanted to buy a new car, she didn't have enough money.
A so
B before
C therefore
D however

Correct Ans : D

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2471196
Anita is a little shy but she’s really a wonderful person once you get to know her.
A beside
B despite of
C whether
D although

Correct Ans : D

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.
2471197

She told me that she likes taking a nap the afternoon.
A at
B in
C as
D on
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Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2471249
Is it to buy tickets in advance?
A difficulty
B easily
C fairly
D possible

Correct Ans : D

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2471250
The next time he took the test, he was prepared.
A good
B goodly
C better
D along

Correct Ans : C

Subject : English Language 02

(22""\‘7015319112 Which of the following is not a part of sign language?
A hand gestures

B facial expressions

C body language

D spoken words

Correct Ans : D

Subject : English Language 02

(22""\‘70153191; What should a teacher do if the students seem to be losing their interest?
A ask them to sleep for a while

B allow them to play outside

C order them to close their eyes

D start an interesting activity or tell a story

Correct Ans : D
Subject : English Language 02

%‘";0155101; Which of the following is the goal of second language acquisition is?

A development of language into an instrument for an abstract thought
B knowledge acquisition

C Proficiency in English

D all of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 115 . L L " . . . -
2471508 The teaching of English in India is facing which of the following main problem?
A use of the traditional method
B lack of good materials

c all of the given options
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D lack of practice
Correct Ans : C

Subject : English Language 02

%";015517126 Habit formation through repetition is a component of which method?
A Constructivism

B Task based language teaching

(o} Audio lingualism

D Communicative approach

Correct Ans : C

Subject : English Language 02

(21"1'\‘7013517137 Drilling is a teaching-learning technique in which of the following?
A Structuralism

B Constructivism

C Lexical approach

D Communicative approach

Correct Ans : A
Subject : English Language 02

Q.No: 118 Answer the question by selecting the correct/most appropriate option.
2471717
Why is grammar important for verbal communication?

A Grammar rules help a learner to learn the second language.
B Grammar is an important tool for communication

[o} Grammar enhances meticulousness in speaking.

D Grammar skills enhance the confidence of the speaker.
Correct Ans : C

Subject : English Language 02

Q.No: 119 Answer the question by selecting the correct/most appropriate option.
2471718
In a classroom, a teacher teaches the importance of reading to the students. To awake their interest in reading, she suggested few reading books to

children. What kind of reading she is focusing on?
Intensive reading
Extensive reading

Critical reading

o 0O w >

Comprehensive reading
Correct Ans : B

Subject : English Language 02

(22;1’\17015811243 Education in English medium is important because

A it helps to acquire knowledge around the world.

B globalization has created this demand

C for better communication among peers.

D it helps a student to convey his/her feelings better.

Correct Ans : B

Subject : English Language 02

Q.No: 121 Which of the statement is incorrect?
2474453

Fofafad § ¥ $H-I1 o 7ad 8?2

A very young children draws distinction between boy’s toys and girl’s toys.
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TET DI TR P! & A iR wrsfral & et & siaw wva B

the younger the child the more physically active he is

B

e e Btet giar 3 INRE w1 & I € it wfiea gt 31

When children are young, they play with anything that catches their fancy and any where
C

o9 9= B §id §, @ 3 Tl el ot i w1y Qad § S IS 79 #Y uned @ ok 3 3 oft @ #

In active play, fun is derived from the activities of others
D

Aftpa B §, Ao gERY $ MAfafiEt | e g 31
Correct Ans : D

Subject : Child Developement

Q.No: 122 Match and choose:

2474458
Column 1 Column2
1. Explaratory stage a. 1-6 years- tends to attribute life qualities to his toys
2. Toy stage b. Corresponds with primary school years still plays with toys when
alone
3. Play stage c. Examine objects big and small
FARIT PR iR 777 BT
HiaA 1 Fiaw 2
1. Ferqet =wor a. 1-6 a¥- 9= Rt # faw 7ot w1 S qar
2. Rrstar awor b. wrufirs Ragame & awt & s wHft St e W Ralat &
e #
3. @& WO c. @t 3R ¥ Tt 1 o wa §
1-a, 2-b, 3-c
A
1-a, 2-b, 3-c
1-b, 2-c, 3-a
B
1-b, 2-c, 3-a
1-c, 2-a, 3-b
(o}
1-c, 2-a, 3-b
1-c, 2-b, 3-a
D
1-c, 2-b, 3-a

Correct Ans : C

Subject : Child Developement

Q.No: 123 Bilingualism is a kind of

2474462
Ruflar ST @ WRRI
speech defect
A
RN
hearing defect
B

YUY

C comprehension defect

GET IT ON

Google Play
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qiy gy

None of the given options

fow T fywedt & @ #I$ TE
Correct Ans : A

Subject : Child Developement

Q.No: 124 To make assessment a ‘useful and interesting’ process, one should be careful about -
2474579

T B T "SUERT 3R = uftean s H Frafiied ey svaet Ty -

labeling students as intelligent or average learners

A
Bl B g a1 ofta el & wu § fffa s
using technical language to give feedback
B
ufagf 3 & Rig gt HTaT 1 STERT BT
using a variety of ways to collect information about the student’s learning across the scholastic and co-scholastic
C
AWM iR - ¥ o™ F WEA F IR A TGN ved 7 F R fafte 38wt &1 uah e
making comparisons between different students
D

faftr Bt & dia e &
Correct Ans : C

Subject : Child Developement

Q.No: 125 Why do individuals differ from one another?

2476208

feT T g & et Y B 82

because of the impact of the environment
A

TRl F YT F HROT

due to the inborn characteristics
B

5= 3 fadivarsi & Ror

due to the interplay between heredity and environment
C

rgafrear ok vafavor ¥ fiw wwR frar & sRo

because each individual has received a different gene set from his/her parents
D

TP TS iR T U ATT-RIaT & TH @ i Ve W gor 7
Correct Ans : C

Subject : Child Developement

Q.No: 126 Development starts from
2476240

P = g1 8

the stage of infancy

AEERT F WO

B pre-childhood stage


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiu47 Eooale Play

o SrearawT &

post-childhood stage

IR TITTRIT TR0

pre-natal stage

ud ueq SawT |
Correct Ans : D

Subject : Child Developement

Q.No: 127 The key difference between evolutionary and cultural change is that evolutionary change alters ___ whereas cultural change alters
2476251
feprardt oIk Tgfis uRad & & Teaqi SR B iPmadiaRadt = wFisqaasvefr aplas uRads @I sqa@ aar gl
Reproduction; environment
A
UST; drdTaror
Heredity; environment
B
demfa; wafawor
Environment; behaviour
C
TafaRwT; AAER
Development; learning
D

faem; arftrmy
Correct Ans : B

Subject : Child Developement

Q.No: 128 The tendency towards extroversion is influenced by

2476257
ke @ vgRy fead TaiRd B 22
heredity
A
SrdfRean
environment
B
CIGICEL)
physique
C
Capll
discipline
D
SR

Correct Ans : A

Subject : Child Developement

Q.No: 129 A characteristic of gifted children is
2476383

ot =T Y G e 8

A Multiple intelligences.
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fafira wfareit

Being labeled a “nerd”
B

Efficiency of cognitive processing
C

HTES Wt Y e

Low self-esteem
D

PH ATH JHH
Correct Ans : C

Subject : Child Developement

Q.No: 130 At the stage of the child’s capacity for thinking has developed to the extent that he can reason apart from concrete situations.
2476704

T TR | I B A B &0 [IHRIA gl 8 i a8 o1 fRUAE (concrete situations) % 3@l dd X Gd |

Concrete operations

A
B HaTe
Pre-operational
B
qd-waTe
Formal operations
(@
e weares
Operational
D

LEIGE]
Correct Ans : B

Subject : Child Developement

Q.No: 131 Measles vaccines is usually given during

2476749
T B1 AebT YRV AR R Fam oirell &
3-6 months
A
3-6 WEH
6-9 months
B
6-9 WEH
9-15 months
c
9-15 g

15-18 months

15-18 WA
Correct Ans : C

Subject : Child Developement

Q.No: 132 The teacher found that a little girl was mentioning trees as non-living. When the teacher asked the same question to the other children in the
2476921 classroom, he found a divided opinion. What should he do in this situation?
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g 3 urn 6w B as! UST &Y Fsifa gar @ 2Rt o/ e ¥ Fwam F o7 I I 98 Uy U@, @ 3% U faviiord I el 3w Rufay & 3 @ e anfee

Ignore it as she is very young

A
TR T BN HWifs 98 9gd B ?
Tell her that tree is a living being and ask her to remember that
B
3@ Ay & 5 v Sitfaa woht 3 ok S 9% ure ve & fog 3
Ask her parents to make her learn all these basic things at home
C
IaF - § 72 P 98 39 W R § T Wi g e Rrag
Understand the basis of her belief and make a lesson to clear such misconceptions of the learners.
D

I YT F nyR B THL 3R Ranliat # i yifedt 7 g7 F S g v w6 771
Correct Ans : D

Subject : Child Developement

Q.No: 133 Death rate per hundred or per thousand is called as

2477435
g &R ufa I a1 ufdl §oIR e &
Mortality rate
A
Tqx
vital index
B
eyt qEFiE
neonatal rate
C
EECIGEAY
None of the given options
D
fw e fywedt & @ o T

Correct Ans : A

Subject : Child Developement

Q.No: 134 The period of “storm and stress” is thought to be the period of

2477444
"I SR T B Al BT BIeT AT W &
early childhood
A
qd SredTawT
late childhood
B
JWR IrATaRIT
adolescence
C
[Eguncealil
adulthood
D
qgERdl

Correct Ans : C

Subject : Child Developement
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Q.No: 135 Which of the following is not a common child and adolescent psychiatric disorder?

2477631
5§ 9 FH-91 9 a1d 3R PR g e 78 82
Neuro development disorder
A
dfe e faer
Social disorder
B
e AR
Emotional disorder
C
YIaTET® PR
Behaviour disorder
D

IR e
Correct Ans : B

Subject : Child Developement

Q.No: 136 Who out of the following needs to play important roles in efforts to stop bullying?
2477702

1. Students

2. Teachers

3. Parents

Choose the correct code -

Frafered # 3 5 S (geftgm) A7 & vardt & Aeaqul sffreT yM $t sawed 82
1.8

2. fest

3. HIa - fuen

el ge I -

Only 1 and 2

Fad 1 3R 2

Only 2 and 3

Faq 23R 3

Only 1 and 3

Fad 1 3R 3

1,2and 3

1,233

Correct Ans : D

Subject : Child Developement

Q.No: 137 What is the full form of UNCRPD?
2478294

0. RS, &7 gl =0 22

United Nation Charter on the Rights of Persons with Disabilities
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ATEES A A 3T g WgeH T uei= fay FRdfafrdter

United Nations Conference on the Rights of Persons with Disabilities

B

TATEES AW Hithw S g UEEH P T fay AR

United Nations Convention on the Rights of Persons with Disabilities
C

ATEES AN FAYA 37 g gy Sifw vl fay RARfrdw

United Nations Convention on the Rights of Persons with Disorders
D

YATEES AN A 3 g WgeH Sife i fay fegaird
Correct Ans : C

Subject : Child Developement

Q.No: 138 In a brown family, all will be brown but their height may vary. This is an example of ______
2478903

TP 1 URER F, T 1 T & B AT Sl SurS e S W ¥1 T8 BT IR0 31

The Law of Segregation

A
SEE BT BT
The Law of Independent Assortment
B
oA ifevor BT ST
The Law of Dependent Assortment
C
i aeffeor &1 fraw
The Law of Dominance
D

YUY BT DI
Correct Ans : B

Subject : Child Developement

Q.No: 139 Thorndike first presented his theory of learning in which of his following books in 1911?
2479326

YHeeE I Ta9 Ugd 1911 F oo+t Fufiiad & ¥ frw qaw & dien o1 Rigia uwga 3w ure

Animal Intelligence

A
Tt gt
Human Intelligence
B
Animal to Human Intelligence
C
Trial and Error
D

T €8 TR
Correct Ans : A

Subject : Child Developement

Q.No: 140 Which of the following qualities of children is incorrectly described in the progressive form of education?
2479458
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e & wfaiier &0 & g & Fofafed & 9 g 7o &1 7o gui fsan 82

Children are curious.

A

=1 g 89 81

Children are creative.
B

T TIEE T F

Children are rote learners.
C

I ¥e 91 N §

Children are a blank slate.
D

T U Tl We g
Correct Ans : C

Subject : Child Developement

Q.No: 141 Which of the following is not one of the principal aspects of complete education given by Sri Aurobindo?
2479511

Frafafea # 8 o ff sRf¥ g1 faw T guf fien & v veqeh ¥ T T 87

The vital
A
FEaQ (drgea)
The Mental
B
e (Hew)
The Moral
C
A (WRa)
The Physical
D
AR (Reforea)

Correct Ans : C

Subject : Child Developement

Q.No: 142 represents the storage and retrieval of information.
2479736

T & SR 3R YA &1 ufaffea wwar 81

Convergent Thinking

A
SRR fr (Fasie fifdT)
Divergent Thinking
B
ST fr (STéadie RifkT)
Evaluation
C
eI (FITqEIH)
Memory
D
wfer (A

Correct Ans : D

Subject : Child Developement

GET IT ON

Google Play
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Q.No: 143 Find the chronological age of a child whose IQ is 110 and Mental age is 18.
2479839

IY T P BIARHHG MG T BT oresT I Al 110 7 3R AFRIS 31 18 B

16
A

16

15
B

15

14
C

14

12
D

12

Correct Ans : A

Subject : Child Developement

Q.No: 144 What do we mean by “Positive Transfer”?
2479885

"HHRITS RIFRU" | AR F47 dedd 8?2

When prior learning or training facilitates a new skill or reaching the solution to a new problem.

A
w19 gd fRram a1 ufkieror TF AT SIvIE 91 TF T SR & FAIYM 96 UgE B YT U $Ia 3
When prior learning or training hinders a new skill or reaching the solution to a new problem.
B
w9 qd & a1 uik1eor U ¢ BIRra § 14T STAT 8 91 TP S THET b GHIYH 9% g g
When prior learning or training neither enhances nor hinders a new skill or reaching the solution to a new problem.
C
w9 qd e a1 yfkieror 7 @ ¢ SiRa HY gerar { ok 7 € a1 sraen @ a1 e 7€ Tuwn & quyE 9@ 61 ughd 8
When prior learning is not required
D

o qd e B razadmar T8 @
Correct Ans : A
Subject : Child Developement

Q.No: 145 is considered the primary center for regulation of emotion.
2479980
T & Fraa 1 it S He o R
Thalamus
A
I
Limbic System
B
IudeHEN o
Hypothalamus
C
JadaP
Cortex
D
qegc:

Correct Ans : C
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Subject : Child Developement

Q.No: 146 Which of the following systems induces a state of physiological arousal that prepares the individual for fight or flight response in order to face the
2479997 stressful situation?

Foafifad & & o w1 43, Ffd T IRRAFIES 35T $T IR BT 8 ot Afed $Y aama R &7 FHe1 S F g e sryar gemg= srfspar & fw GgR o 82

Sympathetic

A
gt
Parasympathetic
B
g
Both sympathetic and parasympathetic
(@
Neither sympathetic nor parasympathetic
D

T gt iR T € Wt
Correct Ans : A

Subject : Child Developement

Q.No: 147 Maslow’s theory is very important and influential in which of the following approaches to motivation?
2480004

SR % fore Fefefed & 3§ frw efein & ara $1 Rigid 9gd Aeayy! iR gHaRIe 82

Behaviourist Approach

A
HAERATE! TP
Humanistic Approach
B
AT R
Cognitive Approach
C
AFHTES T RSB
Socio-cultural Approach
D

AHIRIS-ARPiaS VBT
Correct Ans : B

Subject : Child Developement

Q.No: 148 Manoj is not good at studies, therefore, his father promises to buy him the latest mobile phone if he passes his exams. Manoj is receiving which kind
2480055 f motivation?

T UGTE # o T B, SURT Su far 3 aral fbar i SRR a8 udienn U R Al € df 98 S AdHaH Alagd Wi @dig & | 7T B by ave @l Sifiikon e et
2

Intrinsic motivation

=i SifimRom

Extrinsic motivation

Ted-3fmRoT

C Primary need
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WY SraRadwar

Growth need

fawra &t smazawar

Correct Ans : B

Subject : Child Developement

Q.No: 149 For a child with a physical disability, which of the following consideration can be provided?
2480419

TP RIS Semdr aret s= & o, FafifEd # @ e w =R far o1 9oar 82

Easy question paper

A
EIGIERERE]
Grace marks
B
3/ fraradt siw
Extra time
C
sffafvaa a7
Allow them to use guide book
D

I NS I BT STUNT B &

Correct Ans : C

Subject : Child Developement

Q.No: 150 A child is discarded in the class because of his handicap. Which of the following needs will have to be fulfilled by the teacher to motivate him for
2480765 |earning?

U S B AU febaivar &1 aote § we § Wik a) foar 81 7 sazaesarst ¥ F fha Riere gRT W1 fbar S g arfeh S¥ ¥ & forw ofRka frar o @

Esteem-needs

A
RSl
Safety needs
B
Ren "adt smawawar
Needs of belongingness
C
AT P STaTIHAT
Physiological needs
D

foraTcre wewd

Correct Ans : A

Subject : Child Developement
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